
 “Word problems involving sequences” 
 

The following algorithm gives the rules:  

 

Start 

 Three players  A, B, and C per group 

Own list of 4 independent exercises 

A sheet of  paper, a pen, and a calculator per player 

For i = 1 to 4  

read and solve Ex i  

Player A  introduces his  problem to the others (reads the question, 

rephrases, …) 

Player A explains his  solution : 

 Introduce precisely the required sequence 

 Use as much specific vocabulary as possible 

Players B and C comment, try to improve, give advice. 

Switch roles 

End 

If  the team has more time 

Then ask for more problems !  

End 

End at …h … 

  


